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YMNOYPTEIO NAIAEIAZ,
AOAHTIZMOY KAI NEOAAIAZ
AIEYOYNZH ANQTEPHZ EKMNAIAEYZHZ
YMNHPEZIA EZEETAZEQN

FPAMNTEZ EZETAZEIZ I'A ETTPA®H KAI KATATA=H
2TOYZ NMINAKEZ AIOPIZIMQN 2023

E¢etalopevo avrikeipevo (Kwdikog): AOTIZTIKH (525)
MEPOZ A" (35 Movadeg)
Huepopunvia kai wpa e§éraong: Asutépa, 13 NoguBpiou 2023, 15:30 - 18:30

TO EZETAZTIKO AOKIMIO ANOTEAEITAI ANO AEKATEZZEPEIZ (14) ZEAIAEZ

OAHIIEZ:

e Na amaviioeTe o€ OAEG TIG EPWTACEIG.

e O1 amravtrijoeig va do6ouv aT1o Trapov BiRAidpio (booklet), To otToio aTraApPAITATWG
TPETTEI VA ETTICTPAPEI.

e OAol o1 uttoAoyiopoi TTPETTEI va gaivovTal kaBapd oTo BiIBAIGpIo oag.

e EmTpéTTETAI N XPAON UN TTPOYPAUMATICOPEVNG UTTOAOYIOTIKAG UNXAVAG.

e Acv emTpéTTETAI N XPAoN S10pBwWTIKOU Uypou/TaIviag.

e To BiBAiGpIo (booklet) TrepiAauBavel dUO (2) eTITTPOCOETEG TENIDEG YIA ATTAVTHOEIG
(61Tou xpeirdleTar) kal pia (1) oehida yia TTPOXEIPO.



QUESTION 1

On 1 January 2022, a company’s allowance for receivables was €4.000. On 31 December
2022, the total amount of trade receivables was €121.000. It was decided to write off €1.000
as irrecoverable debts and adjust the allowance for receivables to 3% of the remaining trade
receivables.

REQUIRED:

(a) Prepare the allowance for receivables account for the year ended 31 December 2022
(Marks 1,5)

(b) Prepare the Statement of Profit or Loss (extract) for the year ended 31 December 2022
(Mark 1)

(c) Choose and circle the correct answer below: (Mark 1)

Which of the following shows the correct net trade receivables amount in the statement
of financial position?

i. €113.400
i.  €117.370
. €116.400
iv. €117.000

(d) Briefly explain how a business applies the accruals basis of accounting (matching
concept) by maintaining an allowance for receivables. (Na eénynoesre o€ ouvrouia mw¢
uia emixeipnon epapuolel Tnv apxn Twv 0EO0UAEUNEVWY (apX) OUGCXETIONS) TNPWVTAS
Aoyapiacuo mpoLAEWewY yia ETTICQAAEIC XPEWOTEG.

(up to 30 words) (Mark 1)

(e) Name one other accounting principle which is applied when a business maintains an
allowance for receivables account. (Na avagépere pia GAAn AoyioTikh) apxn T1mou
epapudlerar orav pia EmixeEipnon tnpei Aoyapiacud mPoBASWwEwY  yia  ETIOCPAAEIC
XPEWOTEC).

(Mark 0,5)

Total: Marks 5



Answer space Question 1

(@
Allowance for receivables account
Date € Date €
(b)
(d)
(e)




QUESTION 2
The following exercise was given to students as part of their assessment:

On 30 September 2023, the Cash Book of Andreas Petrou had a debit bank balance of
€10.000 (Dr). On that date, the bank statement showed a different balance.

A comparison of the cash book with the bank statement revealed the following:

ltems appearing only on the bank statement: €
Electricity expenses paid by direct debit 500
Bank charges 50
Credit transfer by a customer 1.000
Items appearing only in the cash book: €
Cheque paid to a supplier (unpresented cheque) 1.200
Cheque received from a customer (uncleared lodgement) 600

REQUIRED:

(a) Update the bank columns of the cash book. (Marks 1,5)

(b) Starting with the updated cash book balance, prepare a bank reconciliation statement
on 30 September 2023. (Marks 2,5)

(c) Briefly explain why the cash book is both a book of prime (original) entry and part of the
ledger. (Na génynoere o€ ouvrouia yiati To BiBAio rauciou givar Tautdxpova Lonbntiko
BiBAio apxIkA¢ Kataxwpions Kai uEPOS Tou KaBoAikou).

(Up to 40 words) (Mark 1)

Total: Marks 5



Answer space Question 2

(a)
Cash Book (Bank Columns only)
Date € Date €
(b)
(c)




QUESTION 3

Students were given the following exercise on Break Even Point:

A small workshop makes and sells a single type of handmade toy. The following information
relates to the production of 4 200 toys per year. All production is sold.

€ €
Revenue 235.200
Direct material 121.800
Direct Labour 46.200 (168.000)
Contribution 67.200
Fixed costs (54.000)
Profit for the year 13.200

REQUIRED:

(a) Calculate for the workshop the:

(i) Breakeven point in number of toys

(i) Number of toys to be sold to earn a profit of €24.000

(iif) Margin of safety in number of toys.

Note: Show all your workings.

(Marks 2)
(Marks 1,5)
(Mark 0,5)

(b) Some students find it difficult to understand the meaning of margin of safety.

Briefly explain what is meant by margin of safety in units (number of toys), using the
information provided in this exercise. (Na &ényrioere o€ ouvrouia THv évvoia ToU
meplBwpiou aocealsiac o€ PoOvAOES, XPNOIUOTTOIWVTAS TIC TTANPOQOPIEC autns NG

aoknong). (Up to 50 words)

(Mark 1)

Total: Marks 5



Answer space Question 3

(@) ()



QUESTION 4

The following exercise (parts a and b) was provided to Class C" Lyceum students by their
accounting teacher:

Anemouri plc started manufacturing and selling a single type of porcelain doll on 1 January
2022. The following information is available for the first year of trading ending on 31
December 2022:

€
Purchases of raw materials 170.000
Factory wages 78.000
Production indirect expenses 50.000
Production direct expenses 15.000

Additional information:

e Inventory on 31 December 2022: €
Raw materials 40.000
Work in progress 10.000

e Factory wages prepaid amounted to €6.000. Five-sixths (5/6) of wages are direct
and one-sixth (1/6) is indirect.
REQUIRED:

(a) Using the above data, calculate the Prime Cost. (Marks 2)

Answer space Question 4
(a)



(b) Compete the following table, indicating with a tick (v), under which column each item

will appear: (Marks 2)
ltems Factory Distribution | Administration
overheads costs expenses

Carriage outwards

Depreciation on machinery

Auditors’ remuneration

Advertising expenses

(c) When marking the students’ answers, the accounting teacher noticed that some students
added the closing work-in-progress and some others deducted it in the Manufacturing

account.

Briefly explain the correct treatment of the closing work-in-progress in a Manufacturing

account.

(O kabnynrtng, kara tn 610pOBwWOCN TWV ATTAVTRCEWY TWV UABNTWV, TTAPATnPNoE OTI KATTOIO!
Habntéc mpooberav 10 TEAIKO QTTOBea NUIKATELYACUEVWYV TTPOIOVTWY Kal KATTOI01 GAAOI TO
agaipovcav aTov Aoyapiacuo Biounxavikwy ETTIXEIPNTEWV.

Na eénynoere o€ ouvrouia TOV OWOTO XEIPIOUO TOU TEAIKOU ammoBéuaro¢ Twv
NUIKATEPYACUEVWVY TTPOIOVTWY OTOV Aoyaplacud Twv BIOunxavikwy ETIXEIPHTEWV).

(Up to 30 words)

Answer space Question 4

()

(Mark 1)

Total: Marks 5



QUESTION 5

The Equity section of the Statement of Financial Position of Prosperity plc on 1 January
2022 is shown below:

Equity: €

Share capital: Ordinary shares of €2 each 600.000
Share premium 90.000
3% Irredeemable preference shares of €1 each 100.000
Retained earnings 80.000
Total Equiity 870.000

Additional information:
e On 1 June, the directors decided to make a 1 for 3 rights issue at a premium of
€0,50 per share. All shareholders exercised their rights.

e On 1 September, the directors decided to make a bonus issue of shares of 1 share
for every 10 held, by utilizing part of the share premium.

e Ordinary shareholders received an interim dividend of €8.800.
e Preference shareholders received their dividends in full during the year.

e Profit for the year ending 31 December 2022 was €70.000.

REQUIRED:
(a) Calculate the retained earnings balance on 31 December 2022. (Marks 2)

(b) Calculate the total number of ordinary shares in issue on 31 December 2022.
(Marks 1,5)

(c) State one difference between Capital Reserves and Revenue Reserves, and give
one example/account that falls under each category of these reserves. (Na avapépere
uia d1apopd ueTaéu KEQAAAIOUXIKWVY ATTOBELATIKWVY Kal ATTOBEUATIKWYVY TTPOCOOWYV, Kai
va ypdyere éva mapdadelyua/Aoyapiacud yia KA Karnyopia armofeuarnikwy).

(Up to 30 words) (Marks 1,5)

Total: Marks 5

10



Answer space Question 5
(a)

11



QUESTION 6

On 31 October 2023, Maria’s Trial Balance balanced, but the following errors were found:
1. Purchase of a motor car entered in motor expenses.
2. Maria had taken goods for personal use. This had been recorded in the books twice.

3. Both the purchase day book and the sales day book were undercast by the same
amount.

REQUIRED:
(@8 Complete the table below by identifying:
I The type of error.
. The accounts to be debited and credited to correct the errors 1-3.

(Marks 4,5)
Error Type of error Account Account
to be debited to be credited
1
2
3
(b)  State which error (1-3) has no effect on profit. (Mark 0,5)

Total: Marks 5

12



QUESTION 7
MULTIPLE CHOICE QUESTIONS (1 mark for each question)
Choose and circle the correct answer in the questions 1 to 5 below:

7.1.Which of the following should be treated as capital expenditure?
i.  Insurance paid for a new machinery
ii.  Cost of purchasing a new machinery
iii. Installation cost for a new machinery

iv.  Machinery maintenance

A. ii only

B. i, iiand iv
C. i, iii and iv
D. ii and iii

7.2.0n 1 January 2022, Nefeli plc had an issued share capital of 200 000 Ordinary Shares
of €2 each and Share Premium of €60.000. During 2022 the following transactions took
place:

e Dividends of €10.000 were received from shares in other company.
e Bonus issue of 1 ordinary share for every 10 shares held was made.

e A bank loan of €30.000 was received.
Net cash flow from financing activities for the year ending 31 December 2021 was:

A. €40.000
B. €60.000
C. €30.000
D. €80.000

7.3. Which of the following is correct?

A. FIFO inventory valuation method (First In — First Out) always gives the same results
whether a company uses perpetual or periodic inventory system.

B. In AVCO inventory valuation method (Weighted average cost), the average costs are
based entirely on unit cost simple averages.

C. AVCO inventory valuation method (Weighted average cost) always gives the same
results whether a company uses perpetual or periodic inventory system.

D. LIFO inventory valuation method (Last In — First Out) always gives the same results
whether a company uses perpetual or periodic inventory system.

13



7.4.Which of the statement(s) below is/are correct?

i.  The adjusted Trial Balance serves as the basis for the preparation of the financial
statements.

ii.  The current ratio is never higher than the quick ratio.

iii.  Anissue of debentures will decrease a company’s gearing/solvency ratio.

A. iandii
B. ii only
C. iandiii
D. ionly

7.5.How can a limited liability company improve its gross profit margin?
A. Reduce distribution costs
B. Reduce rate of trade discount allowed
C. Reduce finance cost
D. Reduce cash discount allowed

Total: Marks 5

TEAOZ MEPOYZ A’
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EmirpdoBeTn oeAida yia atravTtioElg



EmirpdoBeTn oeAida yia atravTtioElg



NMPOXEIPO
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